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HAMT-1/ Part-1

Marks-30 / 3Teh - 30
T 9N W w15 Y | ek U9 AR B1 Yok wed & Ty 02 e fawifa €

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.
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Aifier qen aca § W fretar s 22 [ 3=% €T : 20 9]
Different between compound and element by definition. [Answer Limit : 20 words]
e YRR H fehifed 9 e ol qe g9 4 82 [ 3= €T : 20 ITeT)
Describe the prominent effects of nocotine in the human body. [Answer Limit : 20 words]
. WIR H S enmal € W ey § e, g [ ST | : 20 71
Rusting occurs in Iron but not in Aluminuimum, explain Why? [Answer Limit : 20 words]

. SHfehelt difewe ®Od #0122 g Jgusda S 3 @A FUm w1 9Rd § B H1?

[ 39 €| : 20 y=E]

What are genetically modified crops? Which multi National Company Introduced Bt-Cotton in India?

[Answer Limit : 20 words]

. 39 et WY (W) TE S (Gene) 1 AW S4qE ST AR (Hg) i SE®ES S B

[ 39 €| : 20 ]
Name the transgenic plant(s) and the genes used for mercury detoxification. [Answer Limit : 20 words]

HH=IG: U =%k qo U5 digell H ol W Hioemst o1 e g o faferdier o farat g & den
ST Sfafy Siaq afafy, o fha Bt 22 [ S¥X € : 20 vT=T]

What is generally the number of red blood corpuscles per cubic millimetre of blood in an adultman and
woman and what is the approximatelife span of Red Blood Corpuscles? [Answer Limit : 20 words]

U9 5ol | TEee w1 Afeeh Wl 9 9 Y9 ggdl 87 [ 3<% T : 20 9]
What is the effect of excess nitrates in drinking water? [Answer Limit : 20 words]
. Sta-fafaerar @t wfam fafe [ SR i : 20 9TsE]
Define Biodiversity. [Answer Limit : 20 words]
ot forma = 272 [ <X € : 20 91=T)
What is sustainable development? [Answer Limit : 20 words]

TS Y YA AT HT AT K| LA BT FEHA 7.4 x 102 kg 7 A 1740 km B
[ S 9| : 20 9]

Calculate the escape velocity from the moon. The mass of the moon = 7.4 x 10?2 kg and radius of moon =

1740 kms. [Answer Limit : 20 words]
e afgm 9 a9 o g9E 22 [ ST €M : 20 719]
What do you understand by Remote Sensing ? [Answer Limit : 20 words]
e & WA Hi aRenfod wifs [ ST 9T : 20 s
Define Cloud Burst. [Answer Limit : 20 words]
“rfeg” T ) [ 39X €| : 20 )
What is "Epicenter" ? [Answer Limit : 20 words]
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Tithehel FoR TXHE (GUI) IR FHIE ok TBE (CUI) & T Sl odrsu)
[ S¥R |r : 20 9]
Differentiate between Graphical User Interface (GUI) and Command User Interface (CUI).

[Answer Limit : 20 words]

MS Word & #e1 TSt foeheq =1 © 2 [ S¥X €M : 20 vT=T]
What is mail-merge option in MS-Word? [Answer Limit : 20 words]

Part-2/ 90T - 2

Marks-50 / 3f& - 50

: 39 90 H el 10 99 €1 @t yed e ®1 wee wee & faw 05 ok fawifa 2

There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

“grpfaer W@ qen “TgT W i Thichdl H§ 9F & HRON HT GUH H [STIX | ;50 IIEE)
Describe- the reason for difference in the crystallinity between "Natural Rubber" and "Gutta-Percha".

[Answer Limit : 50 words]|

aRifaferee Siten = eiar 82 9 Ui TS START 1 Fui [STT €T : 50 I
What is Borosilicate glass? Describe its properties and applications. [Answer Limit : 50 words]
T A B2 YL I =BG F YEA SAETIAHAN &7 [S¥ i : 50 v
What is patent? What are major requirements for grant of a patent? [Answer Limit : 50 words]
SME.AH.TA. (IUCN) &1 g ¥4 fafed | 3= S Afuf=m 9Ra &1 998 51 fod a6 § sAfufafaa
foram T qen STt ST AT n? [STIT ©iWT : 50 g
Write the full form of IUCN. In which year the Parliament of India enacted the Wild Life Protection Act
and what was its purpose? [Answer Limit : 50 words]
A JguU & FEE0 3 /B U IR [37IX | ¢ 50 ITEF)
Suggest some measures to control noise pollution. [Answer Limit : 50 words]
T SUM TF ARG § R T Sifsd| [STX |H|T : 50 IIsE)
Differentiate between a National Park and a Sanctuary. [Answer Limit : 50 words]
gy e afdn 9 | deg ¥ foooh fafea [STX ||T : 50 vIsE)
Give a brief account of Indian Remote Sensing System. [Answer Limit : 50 words]
UL TE G IO § A AR 22 [STX §H|T : 50 9]
What is the difference between infrasonic and ultrasonic waves? [Answer Limit : 50 words]
Wehfceh W Wiehiden el § oo q&A 3R 2 2 [STX | : 50 IIsE)

What is the major difference between Natural hazards and Natural disasters ?

[Answer Limit : 50 words]
TuR AZd & Wead § T gRen & o @ wHifaar 2 [STR €r : 50 I
What are the challenges to internal security through communication network?

[Answer Limit : 50 words]
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9T 3/Part-3

Marks 40 / 3% - 40
T 90 H et 07 WA 1 remedt fenel 05 w1 S ¥ Y e & forw 08 ofw fAwifa

There are 07 questions in this part- Candidate should attempt any 05 questions. Each question carries 08
marks.

frefafea =1 avfv +1:
(i) IHfewr 3w, Regfan PR #t Teen & fad,
(i) 2, sfufy IR sHHeRd [STR =T : 125 9IT]

Describe the following:
(1) Benedict's test for the detection of reducing sugars.

(il)) Drug, medicine and chemotherapy. [Answer Limit : 125 words]
S SRdt o § UE UE Ui ot 9y fae 22 [S¥X GWT : 125 1]
What is gene therapy and how does it differ from supportive therapy?

OGS A B €7 OGS Rkl G U feefd & emuR W uEs fhad TR &% B 2?2
[STX ©T : 125 II=]

What are chromosomes? Describe the types of the chromosomes on the basis of number and position of

centromere. [Answer Limit : 125 words]
wes f9e™ a3 (T Saeyd= Bhfig) &1 gaiq fafedl [STRX HH|T : 125 )
Describe Clean Development Mechanism (COM).CDNI [Answer Limit : 125 words]|
C (TM™HE), Si AU Ge I Sleteh =T Tk Gl € T C Ueh shulolh & wieh Si 91 Ge =1 Sfef=iet
?, T H| [STF €T : 125 9]
C (diamond), Si and Ge have same lattice structure, but why C is an insulator and Si and Ge are intrinsic
semiconductors, explain. [Answer Limit : 125 words]
g & FdEEt YUl Sl T [ST 9T : 125 9]
Explain Flood Early Warning System. [Answer Limit : 125 words]

JEd FEd WO feH W DBMS % @1 %R 27 DBA & %1 i off IR il

[ST ©T : 125 9]
What are the advantages of DBMS over typical file processing system? Also define the functions of a DBA
[Answer Limit : 125 words]
9T 4/Part- 4
Marks 80 / 3 - 80
T 90 H et 07 WA 1 remedt fenel 05 g 1 S ¥ Y e & g 16 ofw i@ )

There are 07 questions in this part- Candidate should attempt any 05 questions. Each question carries 16
marks.

A T U H| R U i wnfieds | 3R died faug i
[ST T : 250 II]
Explain plastics. Distinguish between thermoplastics and thermosetting plastics with example.

[Answer Limit : 250 words]
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() EE g el Hel i BEH T v i [S9F €T : 250 3]

() ‘URys Uowed’ #0182 30 Mewse e o “yarsi-smae " fafer g sd wr fohan s wehan
22

(a)  Describe the removal of greasy dirt by soap. [Answer Limit : 250 words]

(b)  Whatis absolute alcohol ? Explain how it can be obtained from rectified spirit by fractional distillation.
it o 0 B2 sl fafa= sraweneti wd e FrEe Wl fewof sifsE)
[ST T : 250 II]

What is menstrual cycle? Write brief note on its various phases and hormonal control.

[Answer Limit : 250 words]
TR T 2 STURTE $ YHE F GUH HISE TS SHh GaH hy [har ST Tl <
[STX HH|T : 250 IIEE]

Explain the impact of solid waste on our environment and show how it can be managed.

[Answer Limit : 250 words]

%R Ud gy TR | an ot 82 uiw fafu= i 6 wem-feol & svEm & famm o fafaa
[STX | : 250 ITeF)
What is the difference between soft and hard X-Rays? Write down the uses of X-rays in five differenrt

areas. [Answer Limit : 250 words]
@ & YRR TR [STIX 9T : 250 II]
Explain the types of drought. [Answer Limit : 250 words]
LAN, MAN Ts WAN ¥ 5 3t 27 Jeieh ol SSIe 3| hogeR Heash | SuanT fehdl S ol Sdietrsiret
o feamfas W o == w1 [STRX HH|T : 250 vIEE]
Differentiate between LAN, MAN and WAN. Give example of each. Also discuss topologies and devices
used in computer network. [Answer Limit : 250 words]
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